vier Briiche, Dezimalstellen, Reihenfolge der

oo o iy lo—o B0 )
Operationen

Name: Datum: Ergebnis:

I 1 - _

S _-5%x3,5= 504+4x4,8+2+3%x43

5 2

1 2 1 2

—+-x2+ = ——15x4+-3-5%x2,4=

3 5 2 3 ’

%+10><3,9+2—2><2=

(1S

2
S T9x27+3-3x

1 1
S —20x - +5+5%4, 1=
5 2 ’

2 1
Cr12x-+4+45x5 1=
5 4 ’

2 1
S - o X2+46x2,1+2=
303
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50 =0 =S %& vier Briiche, Dezimalstellen, Reihenfolge der
Operationen

Name: Datum: Ergebnis:
I 1 89 4 279 9
——=—=5%x3,5=-—)=(—17= 504+4x%x4,8+2+3%x4 3= —=27—
s 3 ,3=C7)=C1%) : : : 10 10
I 2 49 19 2 94 |
-+ =xX2+-=—=1— ——15%x4+3-5%x24=(——)=(-31=
3 5 2 30 30 3 ’ ( 3 )=( 3)

3 65 1
2 410%3,9+2-2x2= " = 6=
4 ’ 4 4

2 289 9
- = 2.7+3— —=(——)=(—8—
579X 2773735 =0 = C8p)
1 1 187 7
L0 x 54+ 5x4 1=l — 18
5 <77 %1770 10

2 1 533 13
-+ 12 %x - +4+ 1=""Z=26—-
547y 3x5, 1= =5 = 2655
2 1 63 3
== X2+6x2,1+2=—=6—
33 0 10
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